2.0

1.0

-0.0

-0.5

-1.0

n=80

1.0 A

0.8

o
(o)}
|

True Positive Rate
o
N
|

0.2

0.0

cosmoDA (no covariate)
Mean AUC: 0.794

cosmoDA (with covariate)
Mean AUC: 0.782

CLR + Graphical Lasso
Mean AUC: 0.806

0.0

0.2

T T T T
0.4 0.6 0.8 1.0

False Positive Rate

True Positive Rate

n=1000

6.00

4.00

- 2.00

-=0.00

- -0.33

-0.66

-1.00

d
n=1000
1.0 5
/
0.8
0.6
0.4
cosmoDA (no covariate)
0.2 - Mean AUC: 0.968
' cosmoDA (with covariate)
Mean AUC: 0.965
CLR + Graphical Lasso
0.0 Mean AUC: 0.84
T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0

False Positive Rate




